

Melissa Torre

09/26/2024 09:00 AM | Drive to Aspen 09/27/2024 09:00 AM | Day 1 Install 09/28/2024 09:00 AM | Event Date - Touch Ups 09/29/2024 09:00 AM | Strike PO: Shipping Address: Aspen Colorado Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Cocktail					
I	Stand Up Tables - Manchester - Dark Wood 36â  8 8 8 rnd x 42â  9 H	3	\$321.75	Т	\$965.25
	Blankets - Chindi Rust Throw 50" x 60"	6	\$23.40	Т	\$140.40
- Constituting of the Constitution of the Cons	Mix and max Pillows	12	\$23.40	Т	\$280.80
			Total Cocktail		\$1,386.45
RECEPTION					
	Dining Chairs - Venice - Whitewash Wood W/ Cane Back	70	\$29.25	Т	\$2,047.50
	New Gold Mirror Balls 2- 24" 6- 16" 4- 12"	1	\$1,186.38	Т	\$1,186.38
	Props - Misc - Mirror Disco Ball 24" 24"D	2	\$40.95	Т	\$81.90
	Props - Misc - Mirror Disco Ball 20" 20"D	3	\$35.10	Т	\$105.30
	Props - Misc - Mirror Disco Ball 16"	6	\$29.25	Т	\$175.50
	Pendant Lamp - Hamptons - 6 Lights Gold 49"w x 15"D x 23"H	6	\$351.00	Т	\$2,106.00
	Pendant Lamp - Hamptons - 3 Light Gold	6	\$234.00	Т	\$1,404.00

Description		Qtty	Price		Total
	Custom Made Fabric treatment Rust orange Front of tent Gable Wall Covering triangle top and Pullback on legs	1	\$1,755.00	Т	\$1,755.00
	Custom Made Fabric treatment in rust Orange 150'x 12' to cover side of tent and part of Kitchen For guest not to see inside if tent while in cocktail	1	\$5,311.80	T	\$5,311.80
	Custom fabric Treatment in Rust Orange  1- Inside Gable Wall for entrance 50 x 18H matching pullbacks from outside  1 - Inside gable wall For stage Side Smaller Pullbacks for Kitchen  2- 70' x 12'H Wall to cover left and right of tent	1	\$7,020.00	Т	\$7,020.00
	Custom Made Ceiling Strips  IN Chiffon to Create strips on the Ceiling. in Matching Rust.	1	\$4,680.00	Т	\$4,680.00
	Custom Fabric treatment in Rust Orange To Cover a 20 x 20 tent walls and Ceiling	1	\$5,265.00	Т	\$5,265.00
	Valance in Rust Orange 600' x 12'H	1	\$3,510.00	Т	\$3,510.00
			Total RECEPTION		\$34,648.38
Furniture					
	Custom Made Mahogany Bar 6'W - O design	2	\$936.00	T	\$1,872.00
	Barback - Aspen - Metal & Wood 5'W x 18"L x 8'H	2	\$216.45	Т	\$432.90
	Custom Made mahogany Dj Booth	1	\$468.00	Т	\$468.00
	mix and Match Colorful Pillows	25	\$23.40	Т	\$585.00
	Accent Table - London - Antique Gold Hourglass Small 18"Diam x 18"H	4	\$105.30	Т	\$421.20
	Sofas - Bruges - Round Left - Nude Boucle 10'W x 65"L x 25"H	1	\$643.50	Т	\$643.50
	Sofas - Bruges - Round Right - Nude Boucle 10'W x 65"L x 25"H	1	\$643.50	Т	\$643.50
	Club & Lounge Chairs - Bruges - T Back Nude Boucle 41"W x 36"D x 28"H	8	\$304.20	Т	\$2,433.60
	Coffee Tables - Monaco - Irregular Brass 55"W x 33"L x 20"H	2	\$292.50	Т	\$585.00

Description		Qtty	Price		Total
	Ottomans - Standard Pod	6	\$35.10	Т	\$210.60
	18"RND x 17"H - Cover Color Upon Request				
	Accent Table - London - Antique Gold Hourglass Table Large	4	\$105.30	T	\$421.20
	18"Diam x 25.5"H				Å0.74¢.54
- · · · · · ·	****** O. I. ' I. I		Total Furniture		\$8,716.50
Furniture- Out					
I	Stand Up Tables - Manchester - Dark Wood  36â  8rnd x 42â  9H	2	\$321.75	Т	\$643.50
	Barstools - Oslo - Leather 15âM M âMDMam X 17âM M âM M H	6	\$17.55	T	\$105.30
		Total Fur	niture- Outside t	ent	\$748.80
Services					
	Transportation - 26' truck	2	\$1,500.00	Т	\$3,000.00
	Drive to aspen Aprox 16hours Thursday 26th	8	\$650.00		\$5,200.00
	Day 1 of installation	8	\$600.00		\$4,800.00
	DAy 2 of installation an event day	8	\$600.00		\$4,800.00
	Sunday Strike	8	\$600.00		\$4,800.00
	Drive back to La Monday	8	\$650.00		\$5,200.00
	perdiems	9	\$395.00		\$3,555.00
	Hotels Rooms	5	\$1,578.00		\$7,890.00
	Manager on Site	1	\$3,500.00		\$3,500.00
	Car Rental	1	\$302.00		\$302.00
	Mini Van For Crew to move around	1	\$800.00		\$800.00
Please make ch	necks payable to Revelry, Inc.		Total Produ	cte:	\$45,500.13
		Total La	abor/Services/M		\$43,847.00
ote: Prior to deliveries and pick-ups all invoices must be pay in full lease ready the contract and sign it		V	Vear & Tear (4.00	•	\$1,820.01
Notes			Packing (2.00	)%): es :	\$910.00 \$4,607.51
			Discou		(\$0.00
			To	tal:	\$96,684.65
			Payme		\$90,00

**Balance:** \$96,684.65